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QUESTION 1

The XML spec constrains the valid values for an ID attribute. Which of the following is FALSE? 

A. ID attribute value cannot begin with and contain any whitespace. 

B. ID attribute value cannot begin with a number. 

C. ID attribute value cannot match the value of an existing IDREF attribute value. 

D. ID attribute value has to be unique throughout the whole XML document. 

Correct Answer: C 

 

QUESTION 2

When using XSLT, if expected items are missing in the output, what is the MOST likely cause? 

A. The XPath expression in the select part of the tab is not formed properly. 

B. The XSLT processor is not properly configured. 

C. The XML parser is not passing the entire XSLT style sheet to the XSLT processor. 

D. The wrong XSLT style sheet is being used. 

Correct Answer: A 

 

QUESTION 3

XML is going to be used in a B2B application to exchange human-resources data between multiple organizations. Each
organization keeps its data in different forms, and produces different reports. Which of the following issues would
present the greatest challenges for the XML project? 

A. Each corporation has its own non-XML record structure for this data. 

B. Each corporation wants to display the records in a different layout in its intranet applications. 

C. Some corporations will be sending a lot more data than others. 

D. The corporations are not using the same operating systems or middleware platforms. 

Correct Answer: A 

 

QUESTION 4

Which of the following is the purpose of the XPointer specification? 

A. XPointer integrates a variety of applications from library catalogs and world-wide directories to syndication and
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aggregation of news, software, and content to personal collections of music, photos, and events using XML as an
interchange syntax. 

B. XPointer specification defines a language to be used as a fragment identifier for any URI- reference that locates a
resource of Internet media type text/xml or application/xml. 

C. XPointer specification proposes a syntax for providing the equivalent of HTML BASE functionality generically in XML
documents by defining an XML attribute named xml:base. 

D. XPointer specification defines the XML Linking Language (XLink), which allows elements to be inserted into XML
documents in order to create and describe links between resources. It uses XML syntax to create structures that can
describe the simple unidirectional hyperlinks of today\\'s HTML, as well as more sophisticated links. 

Correct Answer: B 

 

QUESTION 5

A GUI Editor for editing XML documents is being built. It has a view where the XML document can be presented in a
tree form. One of the requirements is that a user should be able to visually select one or more nodes, and cut and paste
them into another destination node. A parser that conforms to the DOM API implementation is used for XML processing.
Which of the following types provided by the DOM API can be BEST used to temporarily store the nodes that have been
cut and later to append them to the destination node? 

A. Document 

B. DocumentFragment 

C. NodeList 

D. NodeMap 

Correct Answer: B 
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